
Beam-Beam BTF study 



Beginning of fill quite near 2/3 



Beginning of BTF: blue is blown up 
already 



Out of 
collision,  
moving 
tunes 

Losses, 
pulled back Again 

Decision to jump to 
.74/.73 to cross 

resonance quickly 

Beam lost 



Losses from 
horizontal 

crossing 5/7? 

Losses from 
vertical crossing 

5/7? 

But it appears the 
beam died when we 

were somewhere 
safe already 



Traversing 5/7? 

3/4 stopband? 
Last year:  

ramping on .74 
 

Differences: 
Optics corrections 

(lower limit in quad) 


